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~SaNRLY(SHDR)
70,000 = 18221 = 123 152,880
~SAH R AT (2A-52)
80,000& = 32! = 12& 2,880
~SAH R AT (2A-62)
60,000& = 121 = 123 720
~SAH RO M-T20/5H)
50,000& = 72! = 12& 4,200
~SANRLY((ABI=X)
30,000& « 382l = 12& 13,680
—SaNe AN (AE=)
30,000& « 382l = 12& 13,680
OxU2R+ES 953,237
o mRAYRLY 0
o ZelPRL(ME3) 11,554
-42 (285 8)
3,988,600& * 221 » 9% * 12& 8,616
e (958)
3,138,400 = 121 » 7.8% = 128 2,938
o A2LA2RE 0
o Nzt22+<2 (MZ3at) 941,683
-2 B (53)
11,0223 * 3221 = 15A12t « 12& 63,487
SIEIEI (=)
9,383 » 155Q1 x 15A12t » 12E 261,786
QB (73)
8,476 » 195Q1 = 15A12t » 12E 297,508
-2 B! (83)
7,609 * 9401 x 15AI2F « 12& 128,745
-2 B (93)
6,878& = 2021 = 15AI2F = 12& 24,761
-Jlsz(62)
9,383& = 321 * 15AI2H » 123 5,067
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- 22 -




2A: E20
HM: HHSHHH (E2D)
Y. SHOIAHIRY (&9 &)
SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-JlsH(83)
7.6092 * 2401 x 15A12F * 128 32,871
-JlsH(93)
6,8782 * 3501 x 15AI2F x 128 43,332
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10,8392 * 491 » 15AI2F * 128 7,805
X S AH20E 20l 5t)
8,848% * 1001 » 15AI2F * 128 15,927
-X S AH21E 20/ 4)
8,292 * 1501 » 15AI2F * 128 22,389
-H AR (CHS)
7,4229 x 121 % 15A|2t * 12€ 1,336
~H AL 8,620 * 201 x 15AI2F x 128 3,104
OAHEBEAS 3,263,125
o HHMZAIY| 130,0009 * 640Q! » 122 998,400
o HEFIHH| 0
o HEEIHI(ME3) 2,033,035
AP RAZ (285 2)
4,151,7002 * 301 x 60% * 23 14,947
-UBREZ (305 2)
3,849,500 * 3201 * 60% * 23| 147,821
—UBIREZ (245 2)
3,717,900 * 15501 * 60% * 23 691,530
—ABXT7Z (185 2)
2,626,2002 * 19501 * 60% * 23 614,531
-UBXgZ (85 =)
1,797,100 * 9401 * 60% * 23| 202,713
-UBR9Z (55 =)
1,423,00024 * 2091 * 60% * 23] 34,152
-JIs263(2552)
3,209,200 * 30! * 60% * 23 11,554
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2,881,400 * 2201 = 60% * 23] 76,069
-Jlsx83 (185 )
2,360,300 * 2491 = 60% * 23] 67,977
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3,194,830 * 19! % 60% * 23 3,834
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3,209,200& = 3¢l = 86% » 1/30 = 5& 1,380
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2,881,400% » 2291 = 86% » 1/30 » 5& 9,087
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2,360,300% * 2491 * 86% * 1/30 » 5& 8,120
-JlsA9Z2 (98 8)
1,683,700% = 3521 * 86% * 1/30 * 5 8,447
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4,221,800% = 4021 = 86% * 1/30 * 52 2,421
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2,380,900 = 2501 * 86% * 1/30 * 5 8,532
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110,000& = 121 = 12& 1,320
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Oxz=E4+3 237,769
oJl2= 1,026,260& 821 = 12& 98,521
o=g 139,248
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o JtAIE & HI 50,000& = 82! = 12& 4,800
o AtHEHIBEx+Y 2,307
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o Ex22=¢ 4,800
S e PSS RSy 50,000& = 82! = 123 4,800
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40,0003 = 292! = 123 13,920
OIES Y (RYIHE)
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35,000& = 1@l * 252 x 123 10,500
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85,000& = 109! » 3« 2,550
O4liedg 23 241,770
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1,950,000& * 105Q1 * 4.5% * 123 110,565
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OC1EEHE
1,950,000& * 10591 * 1.45% * 123 35,627
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OXNSEBXHI(EEY) 0
OXNZEXHI(ME3) 1,088,280
o= 500,000& = 121 = 123 6,000
OR=Z= 450,000& = 121 » 123 5,400
043, A& &(42)  400,000& * 321 » 12& 14,400
o5 N2 250,000& = 3521 = 12& 105,000
062, HHFALKE A, JIS62, 82
155,000& » 1862l = 12& 345,960
ora,lls7a 140,000& = 217¢l = 12& 364,560
0892, A= AH(25S0I5t),7158~958,& &
Ot= 105,000& = 173¢! = 12& 217,980
OHJIE(2E MYD)
105,000& 2321 = 12& 28,980
OMSAIRATAS=Y 300,0008 = 121 = 128 3,600
303 Z&3 ,637,567 1,637,567 0
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OgerA ,578,879
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